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Y w) 50xe8) - 2(x9) <Y4Gced) -3
5x +90 -3x+ 24y = HUx+«32 -3x

2x + 64 | X F3IZ2

X = -~ 322
b) b6(x-4¢) +3(x++)-202x+4)=
- 6><:ﬂ t3x + 2

Sx -l

'L/X:_ﬁa =~

= -

S = D
X =2

¢) 15( x=8)-Hx+U4) = 3(3+9x)~20x ~ 3

15x =120 ~3¥x ~28 = 9 +24x -20x+3
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= Yx + /2
4/x — /50
X = 40

d) (3+3x)S + H@-2x) +Yx = 2(x+8&) +Us

IS+ 1Sx +96 = [Y% +Yx = 2x+16 +US
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= Zx + 6/
Ix s -Jo
x =-3%
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Lok,
)a) x-3)" = (x+° L elter

X =3)XCx-3) = (}X<€5)(X<5)
X %= 2x -3x+9= XC+5x+Sx <25

f- 6x +9 :/{(‘F‘Ok + 25

“/6 = /6)( +3f9
=T IET"
D) (x+9)* = fxE1H
AL Petle = D bx+ 9
& % = - F
x = =-3% ollr 35
‘l‘gp.

c) Ole + Jarme = 670 €
Slime + 124ine = 670 €
;,&pkm - 6¥0 €
| lime = 34 €
Ole (line 34e) = 2722 €
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